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Cross section from simulation files
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e Acceptance and bin migration corrections from simulation
e Keep separate to assess size of resolution effects

e Applying corrections to same MC events used for
corrections...obtain exact generated distributions

e Obtain bin volumes from Monte Carlo (account for cuts)
e Scale counts to integrated luminosity of 10 b1 .
e Currently only using electron track reconstruction

e Combination of tracking/calorimetry for electron
reconstruction In-progress

e Working on fix to hadronic final state reconstruction
methods



Bin volumes with kinematic cuts
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Bin volumes relative to no kinematic cuts
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Reduced cross section (5x41, electron track
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Reduced cross section (10x100, el
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0% > 2 GeV2
W > 2 GeV
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Reduced cross section (18x275, elect
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Next steps

Reconstruction

oStill working on hadronic reconstruction methods

Systematics!

eResolution

eEnergy calibration
eMC/generator uncertainty?

eNeed electron ID to assess purity



